{2, 3}

5lel AnB

{2, 3, a+1} o of

b, B =
1S

& Fofelet.

X



{6} < o, a

sto]l B~ A

ol

o

A3 6 @ 8 ® 10

® 4



3. logs2=a, logs5 =022l & 1, logg 1255 a, b= YEFHH?

®1-2b @ 2b-a ® a-b



Tl

S

x| xE2x2-3x-2=0}, B=1{1, 2, 3, 4) o tf

@ 874 ® 97§ ® 157M ® 1671

@ 778



25
A% U =
355 o =
o o %73 4, 5}4 7
o] o1 T—f%‘ai} 1
otofzt 2
S 1=
: e
eI
=1gsi 1)
9 38

v
o
5



6.

B A= (120 oA 12 EFSA
et & wl, A4 n o] 2he Fatelet.

e =
c

w0



ohe 3 A o] B AL BE TEW?

@ x 7t &F0]H x & E5°|th

@ x 7} 39 HjgeolH x + 1 2 ot
® 4 9] Hij= 2 o HijgeolTt,

@ 2x>x+3°]H x> 30|t}

® x+y<59H x<2,y<3 0|t}



Njo

ol

olJ
ol
~,

To°

® P°cRe
@ QcR

® PcQ

® R°cP

@ Pco



T Ao B A= (1234, 8= {1 V2 V3}olx

SO+ +FB) () =1+ V2+2V3 Do, {7(1)} +{7(2 }
{F@)} +{r(@)}* o 22 Fstd?

Y
=



10.

L =7(1)

II. X1 > Xo O]% f(xl) < f(XQ) O]E]'

D 1 @ I

®

I Py

I

@ I,1I

® I.1I




1. % 84 f(x) = o+ % 4+, g(x) = mx+n ol H (fog)(x) =
8x% — 8x2 +4x—1 o2t T wf, m? + n? o] Fr2 Aukd7}? (H, m,n

LIRS

D 7 ® 8 3 9 @ 10 ® 11



Ot

o g

A o, £(3)

=z
o=

24oa-12

&4 f() 7 f(2x-1)
Aufelz}?

[

12.

3 4 @ 7 ® 14

® 2



13.

o, g(3) ol #t=

of tisted £(3x+2) = 6x— 30|t}
stolet,



ol
N
o

=%

— 0 o 2 4

X2 -Tx+1

14.

@ 46 B 47 @ 48 ® 49

D 45



1

1 = 4,a,

0 |



16.

A~

T

()]
=

e
o,

@D 6

{a,}-& 2270 o] obd
az + ag ©] 27

® 8

524

dolar, as+ag+as+ag+ar = 20

@ 12 ® 14



17.

3|

Agel 3o]aL, ARG H

AT E {a,) o] BAE d=H L

A nF7kA 9] ol S, = n? + pn
S, p+d 9 22 (&, pe S

@D 1 @ 2 3 3 @ 4 ® 5



18.

524 9o M ke

T A A(L),

B(x) 7}

A

2 YZshs H< Pt std A, P BO HEE

ol

@D 2 @ 3

o},
o]

r_*_
b Mz
oS
SY

A

|
—

ol
o
Ey

B 8

o wo



19.

® 148

@ 156

{an} oA a1 +ag = 96, a1 +as+az+ay = 120
7 9] L2

® 164



20. YU (BRH+1) =S (k2 =1) & nol tigh Ao2 YeRH an? +-bnt-c
A, % Zf—abc—iaabc—J%IOV

D =2 ? -1 3 0 @ 1 B 2



1
Vk+ Vk+1

o) ge?

21. I,

D Vn-1-1 @ Vn+1-1 @ Vn+1
@ Vn+1+1 ® Voan+i+1






2_8x-1= 09 F 2] logyg a, log;o b2 ™, log, b+log, a

@ -8 3 =12 @ —-926 ®B 34



24.

10009 o] g F2-27

(T, log2 = 0.3010, log3 = 0.4771)

D o @ 1 B 2



25. 5% llogyn] @ 3 Fotolzt (H, [f =8
Folt}.)

5]

Ct
=



3

= f{x|lx<2%0 B
L, B={x]0<x<3¢%

2 Uehfjofet.

e
5lo] A n B

fllo 11



27.

AAG U = {ale 41 0]ok0] 25} o] =2
n(A°NB) =4, n(B) =17, n(A°NB°) =4 & T

D1

@ 2

® 3

@ 4



28. a>0,b>0, c>0¢ O
(1+2) (146) (1+9) o A%grg Fotoiet

YER
c



29.

L, 0, 1, 2j°f tiste] X ol A

A @5 f o ASE

X O] A9oJ9] F AU xq, |
[.f(x1+x2) = f(x1) + f(x2)
I.f(x1) = f(x2) 1 x1 = x2

xg ©f Hi5ke]

@D 274

@ 4 7

® 6 70

@ 8 7f ® 12 7§



30. y=lx+2-|x-6] 9 Tz} A4 y = k7} Wt H| A5}
2 oA W), A% k o A4

@D 470 ® 570 ® 670 @ 770 & 87



O APFAA ¥ —ax+b = 0% x? —bx+a = 00] B 7 7] o]
e AeE F A7 bAFS AT, ¥ —ax+b =09 F 2=

] 1 1.9 9
B, x? bera—O«lLey,aﬂ}s}ﬂ.fﬂﬂh&+7+;+;4

B
A5:30& Totolel,



32.

Aol d g olg ¢
fn+2) = f(n+

1)+
gHetol 22 2L (2

1__

@ 27(6) @ 2f(7

ot f 7F Lo 9] A4 n o tisto] A4
f(n) < HST o, b3 F 21(4) + 3f(5) <
o f(1)#0)

Yy OB () @ FB8 ® f9



33.

fln v ) =57+ LB S0k 9+ S ) = 3012

x+y+z#0Q W, xy+ yz 4+ zx Q] 7H2?

YEE
=%



